
l;=g+= pDd]bjf/sf] gfdy/ :yfoL &]ufgf ;Dks{ g+= /f]n g+= s}lkmot

1 d]lngf v*sf tf=g=kf= 6 9867138333 001

2 dfof b]lj nfld%fg] sfl/sf]^ 3 :ofªhf 9847059249 002

3 lg;f l#ld/] tf=g=kf=10 98675550922 003

4 sljtf s'df/L /]UffdL /}gf b]lj 5 9847436434 004

5 k|Llt yfkf tf=g=kf=13 005

6 dlg; dfg dxh{g tf=g=kf=2 9847156188 006

7 v"dnf u/+hf  /}gfb]lj %x/f 1 9847003560 007

8 ltgfp e§/fO{ tf=g=kf=9 9867759597 008

9 l;{hgf ;f? du/ tf=g=kf=7 9849040169 009

10 k'"hf lrbL tf=g=kf=7 9863353528 010

11 l;h{gf zfx tf=g=kf=6 011

12 ef]h s"df/L j/fn dfyfu*L 1 012

13 ltns s"df/L vqL b]ljgu/ 1 9847115312 013

14 ;l/tf lj=s= tf=g=kf=5 014

15 zflGt clwsf/L kl)*t jemfª %lj;kfyLe]/f 3 9847495930 015

16 nIdL clwsf/L tf=g=kf=3 9867341544 016

17 ;/:jt/L v*sf tf=g=kf=5 9821454912 017

18 eujtL ;'gf/ tf=g=kf=7 9840459452 018

19 dlg;f sf]O/fnf tf=g=kf=3 9821560168 019

20 uLtf /fgf lg:bL uf=kf=7 9804429529 020

21 sljtf ;"gf/ /}gf b]lj 1 9817526829 021

22 nfn"dfof u"?ª tf=g=kf=3 9867241995 022

23 kfj{tL s'dfn jugf;sfnL 1 9847466012 023

24 ddtf ef^ tf=g=kf=11 9867446779 024

25 k"g{dfof g]kfnL dfyfu(L 8 9844762326 025

26 lgd{nf /fgf tf=g=kf=1 9847565149 026

27 ?kf kl/of/ tf=g=kf=5 9824401677 027

28 ;+uLtf aufn] tf=g=kf=11 9810898742 028

29 b]j s"df/L lj=s= tf=g=kf= 8 9812973708 029

30 O{lGb/f vjf; tf=g=kf=11 9844747074 030

31 lbn s"df/L dfemL tf=g=kf=13 9847075052 031

32 t]h s"df/L yfkf tf=g=kf=13 9867198989 032

33 HoftL l#ld/] tf=g=kf=11 9847372424 033

34 ;'l:dtf lj=s= :ofªhf,uNofª 1 9867299169 034

35 lzj axfb'/ ;fsL{ tf=g=kf=1 9814416676 035

36 ;fu/ hfnGw/ tf=g=kf=1 9819152246 036

37 /fd vftL tf=g=kf=1 9567206897 037

38 dlg;f u}/] tf=g=kf=4 9804400098 038

39 b]ljsf uf}td tf=g=kf=10 9867244156 039

40 aGbgf a:ofn j+ugf;sfnL 6 9841212512 040

41 ;ljtf u]/] tf=g=kf=5 9807582332 041

42 lnnf ufxf /fdk'/ 10 9826178149 042



43 nIdL v*sf l/AbLsf]^ 8 9847569373 043

44 kljqf a:ofn e§/fO{ tf=g=kf=13 9867206076 044

45 b"uf{ axfb"/ s"dfn /}gfb]lj 1 9847000319 045

46 ZFld{nf vjf; du/ tf=g=kf= 11 9869472406 046

47 /Tgsnf u}/] dfyfu(L 1 9867136371 047

48 dgf]h /fgf tf=g=kf=3 9867132918 048

49 sljtf u}/] tf=g=kf 5 9867550032 049

50 dg" l#ld/] c#f{vf+rL,kfl)fgL 5 9869944241 050

51 lbn axfb"/ yfkf tf=g=kf=7 9844754464 051

52 clgtf cfrfo{ tf=g=kf= 7 9847477290 052

53 lbIff e)*f/L tf=g=kf=5 9840193571 053

54 od"gf sfsL{ tf=g=kf=5 98473397214 054

55 ljBf k[yL tf=g=kf=8 9821487588 055

56 dGh' ;fksf]^f tf=g=kf=5 9867141086 056

57 dfof s"df/L l/hfn l#ld/] tf=g=kf=7 9847057165 057

58 ;Ltf v/fn j+gf;sfnL 7 9869475168 058

59 gld{nf bnf{dL dfyfu(L 6 9617927828 059

60 ?sdfof lji^ tf=g=kf=5 9847140112 060

61 cflzsf kf)*] lji^ If]qL tf=g=kf=5 9826494593 061

62 ;":dLtf g]kfnL tf=g=kf=12 9815113134 062

63 ;ljtf vgfn ltgfp uf=kf j*f g+= 9869940683 063

64 dfof g]kfnL tf=g=kf=7 9847505149 064

65 ljdnf ;f? tf=g=kf=13 9825471729 065

66 dlgiff /fgf tf=g=kf=3 9867139939 066

67 a]b s"df/L sj/ j+gf;sfnL 7 9847568637 067

68 lai)f' k%fO{ tf=g=kf=4 9847524852 068

69 af;gf e§/fO{ tf=g=kf=13 9844722870 069

70 dw"'dfof lji^ tf=g=kf=5 9867340542 070

71 lht]Gb| uf]bf/ tf=g=kf=11 9847567050 071

72 ;/:jtL e)*f/L tf=g=kf=13 9867340991 072

73 eujtL lrbL tf=g=kf=10 9867100904 073

74 ladn axfb"/ aufn] tf=g=kf=11 9814472558 074

75 cf/tL s"df/L lj=s= tf=g=kf=5 9867244675 075

76 zflGt s"df/L %x/L ltgfp 1 9867546338 076

77 sf]lknf vgfn j++gf;sfnL 1 9847103373 077

78 s[i)f k|;fb g]kfn /}gfb]lj %x/f 2 9847069815 078

79 dGh" s"df/L If]qL k/fh"nL j+gf;sfnL 9 9847116421 079

80 स "lgता नेपाली ता=g=kf=2 9847587124 080

81 dgdfof yfkf v*sf tf=g=kf=5 9847172816 081

82 jiff{ dxh{g tf=g=kf=3 9812963770 082

83 d~h" bnf{dL /Def uf=kf=3 9869457924 083

84 laGb" s"j/ tf=g=kf=11 9847397525 084

85 lutf k/fh"nL j+gf;sfnL 9 9806608560 085



86 ljj]s afsfjn du/ tf=g=kf=7 9847499763 086

87 ;fu/ !jfnL tf=g=kf=7 9847398889 087

88 ;/:jtL af]xf]/f tf=g=kf=11 9843434414 088

89 a;GtL /fgf yfkf tf=g=kf=13 9847262560 089

90 ;"'lgtf Gof}kfg] tf=g=kf=1 090

91 ;"sdfof &*/fO{ tf=g=kf=8 9825404550 091

92 gf/fo)fL af]xf]/f tf=g=kf=5 9847419744 092

93 ;Gtf]if ;"gf/ tf=g=kf=11 9816685483 093

94 tLnf;/f #lt{ du/ /Def uf=kf=3 9867939636 094

95 uLtf k/fh"nL tf=g=kf 6 9847181111 095

96 sNkgf /f:sf]^L tf=g=kf 12 9867231206 096

97 ldgf yfkf If]qL k^f}^L 5 c#f{vfrL 9847116689 097

98 cd[tf dxtf] lk&f}nL 4 gjnk/f;L 9819670863 098

99 lbk]Gb| sfsL{ tf=g=kf 11 9867140258 099

100 ljdn jf]x/f tf=g=kf 11 9867142250 100

101 lzj s'df/L yfkf l/AbLsf]^ kfNKff 9867260070 101

102 gd{bf yfkf l/AbLsf]^ kfNkf 9867140321 102

103 lji)f' dfof bnf{dL dfyfu(L kfNkf 9617584057 103

104 ;Ldf b]jL dNn cfn] /Def 4 kfNkf 9860738895 104

105 O{Zj/L k|;fb zdf{ tf=g=kf 3 kfNkf 9847348411 105

106 l;h{gf s]=;L= /Def 9 kfNkf 9867934772 106

107 kfj{tL lj=s= dfyfu(L 1 kfNkf 9867885160 107

108 g"df lx:sL k'g du/ dfs/ 2, gjnk/f;L 9863188047 108



pDd]bjf/x?sf] clGtd gfdfjnL

kb M sfof{no ;xof]uL lj!fkg g+= 05÷075÷076


